415.30 mm 1.80 mm
[16.350 in] [O'O7ll in]

° ° 217.58 mm
[8.566 in]

o |lE=Es — 2 S (@)

SECTION A-A N

421.65 mm ?4.32 mm [0.125 in]

[16.600 in] > 94 mm |
~F 16315 B - / [©0.170 in]

e
—
306

® ®
+ 0000000000000 00OO0OOOOOIOOOOOOOOOOOOOOOOOOO0O &g o @) @) (e]
OOOOOOOOOOOOOOOOOOOOOOO|OOOOOOOOOOOOOOOOOOOO o
0000000000000 00000000000I0O0O0O0O0O0000000000000O0
0000000000000 O0OO0O0O0OOOO0OOOOOOIOOOOOOOOOOOOOOOOOOO
(®)

OOOOOOOOOOOOOOOOOOOOOOOOO|OOOOOOOOOOOOOOOOOOO

9 [eXoXoXoXoXoXoNoXoNoXoNoXoNoRoNoXoNoRoNoXoNoXoNoXoloRoNoRoNoRoNoRoNoRoNoRoNoRoNoRoNoXoNoRoNoXoXo) o o
/.94 mm | 127.00 mm

O 313 1 0000000000000 0000000O00O0O0O0IOOOOOOO0OO0OO0O0O0O0O0O0O0O0O0O0OO0O .
. In 0000000000000 00O0O0O0OO0OO0OOOOOOOOOOOOOOOOOOOOOO0O0OOOO [5 OOO In]
OOOOOOOOOOOOOOOOOOOOOOOOO|OOOOOOOOOOOOOOOOOOOOOOO -
0000000000000 000000000O0O00IDOOO0OOO0O0O0O0O0O0O00O0OOO000O0O0O0
0000000000000 00O0O0O0OO0OO0OOOOIOOOOOLOOOOOOOOOOOOOO0OOOO 1 1
@OOOOOOOOOOOOOOOOOOOOOOOOOIOOOOOOOOOOOOOOOOOOOOOOO@ Iy il
0000000000000 00O0O0O0OO0O0OO0OOOO0IVOOOOLOOOOOOOOOOOOOO0OOOO
OOOOOOOOOOOOOOOOOOOOOOOO|OOOOOOOOOOOOOOOOOOOOOO
%—OOOOOOOOOOOOOOOOOOOOOOOO:OOOOOOOOOOOOOOOOOOOOOG—%

|
L | 373.06 mm
- " [14.688 in]

V_"_'”_'_'_"_"_"_'_"_"_"_': __________________ 1V

457.18 mm 454,01 mm
[18.00 in] [17.874 in]

304.42 mm - - - L
[11.985 in] Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. )

® I il Contact Factory mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.

|
|
|
|
;
: RM5U1918VBK
|
|

Extruded Aluminum Frame - Type 6063
2 Panels - .064" Aluminum (5052-H32) Powder Coat
B‘J 2 Mounting Brackets - .125" Aluminum
16 Screws - Flat Head 4-40 x 3/8"
L[l%-'g(%Oniqrﬁ SECTION B-B 8 Screws - Counter Sunk Head 6-32 x 3/8"
ASSEMBLY - VIEW FROM TOP R3.18 mm 457.18 mm 4 Screws - Counter Sunk Head 10-32 x 3/8"
/[0.125 in] [18.00 in] 16 Nuts - #4 Speed Nuts
i Four Self Adhesive Rubber Feet - 1421T3

HANDLE ® ; ACCESSORIES

N | —MOUNTING ., s PULL HANDLES 1427P1BK

HOLES [8.720 in] o o o REAR BRACKET KIT RM3U18BRKT

T |, R ° o HAMMOND
/MANUFACTURING

RM5U1918VBK

www.hammondmfg.com

N
®
®
-y J
STE
o
o
r

A

T 437 mm
466.1 - A37m
6.35 mm 18350 1 0172 in]

[0.250 in]
ASSEMBLY - VIEW FROM FRONT

ASSEMBLY - VIEW FROM SIDE




